Math 251 Worksheet: Calculus II Review Exercises

This worksheet serves as a review of only the truly essential material from Math 152 that you
must have mastered to succeed in Math 251. Of course, you are expected to have mastered all of
precalculus and algebra as well.

Methods of Integration
. Find the following antiderivatives or integrals.
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Parametric Curves
. Find a parametrization of each described curve.

(a) circle of radius 2 with center (—1, 3) (c) the liney =3z +5
(b) the ellipse 222 + 3y? = 1 (d) the line x = —2

. For each described scenario, find a parametrization of the particle’s path in the xy-plane.

(a) A particle starts at the point (2, 0) and then travels exactly once around the circle 2% + 4> = 4
in the anticlockwise direction. (The particle does return to its starting point.)

(b) A particle starts at the point (2,0) and then travels exactly three times around the circle
22 4+ y* = 4 in the anticlockwise direction. (The particle does return to its starting point.)

(c) A particle starts at the point (0,2) and then travels exactly once around the circle 22 +y? = 4
in the anticlockwise direction. (The particle does return to its starting point.)

. Find the length of the curve described by the parametrization x(t) = e ? cos(t) and y(t) =
e ?tsin(t) for 0 <t < 27.

Polar Coordinates
. Convert the given coordinates from rectangular to polar coordinates.

(a) (1,0) (b) (1,—V3) (c) (3,v3) (d) (=2,2)

. Sketch a graph of the equation r = 8sin(46) in the xy-plane. Then find the total area enclosed by
the graph.

Page 1 of 1



Colwhous-
@ (o) -['g ([B-(—»(z)‘lz (2048—&‘[»(2,. 3¢4) + C
(h) -'; Ct - He“')
() _~ + C

g—

(1-x*)%

(4) (%-%)r - —(n(z)

() ln|x-2[ - 4'(%5) + C
(’?) Smh (x)13+ L sk (x)*°+ C

@ (G) ¥ = |+ 2ecs(t) ) £t
\j= 3+ 2sm )

() = V-Lfcoscjc) het «2T

Y= -‘[%'Sm ()

() z=¢ e R



9; €+ S

d) x =-2 L
y= < ©f
@) (a) 2= Leoslt)
‘5323m(-€) Ftezm

Ch) % = 2Zess(t) 24 el
ljz'lsm (t)

60) = 2co n
7, 5(’(7"" /?,) Oé'é z 9¢C
Y = 2sm (4 “'TT/?.)

@ ‘2‘2/;@’264{;— _ //-’i-"(l’e-tfﬂ:)

D

@(a) r=(,6=0
b) r=2, &= -Ts
(¢) r=+l2 = T/

(d) r= 1/?’7 O = 317:/,_‘



A: .‘.. 2
2§ (¢ 5m (4@)°do = 32r

D



